@ zodular

Assembly Technology Connecting Elements %14 3.53.01

Connecting Elements

B

Joining Plate w
EEHEAR
Material: zinc plated steel

MR BRINETE

6.2 8.2 10.2 10.2
2.0 2.2 4.0 6.0

PG30-3030-01
30%%1-3030-01

PG ‘ Fastening Set PH

Fastening Set

< M6x10 Bolt < M6x10 Bolt
zinc plated zinc plated
< Me Spring Washer 1 M8 Spring Washer
° zinc plated ° zinc plated

M8 T Nut M8 Pre-set Nut
nickel plated ‘ < nickel plated

Mass
5=
(9)

Part No.
TR

Description Fastening Set

FEEmtEiR EAETEERGS

PG30-3030-02 PG30-3030-01 (set A)

30%7%1-3030-02 30Z:51-3030-01 (RRE ML E5A) 5xPG 217 | 3.53.30.3030.01.STA

PG30-3030-02 (pcs)
302 %51-3030-02 (F M 1%)

149 | 3.53.30.3030.02

PG30-3030-02 (set B)

30Z51-3030-02 (R E 4 1458) 5xPH 259 | 3.53.30.3030.02.STB

PG30-3030-03 (set A)
PG30-3030-03 30£%1-3030-03 (BB EA)

PG 395 | 3.53.30.3030.03.STA

30%%1-3030-03




